Atomic energy Central schools Rawatbhata
Term —I Examination, 2019-20
CLASS: Vi
Time: 3hrs SUBJECT: ENGLISH MARKS: 80
This paper consists of four sections.
Section A: Reading- 20 Marks Section C: Grammar -15 Marks
Section B: Writing - 20 Marks Section D: Literature -25 Marks

General Instructions:

1. Attempt all the questions.

2 All the answers must be numbered correctly.

3. Read each question carefully and follow the instructions.
4 Questions of each section must be answered together.

SECTION-A (Reading)
A.1 Read the passage given below and answer the questions that follow: (8 marks)
A man who goes for space flights has to be very carefully trained, because there are many
difficulties and dangers. To begin with, he is speeded up or accelerated a tremendous amount
during the first minutes while rocket is burning, and this means that he feels glued to his seat,
which is pushing him upward. He feels many times heavier than normal.

Once the cabin in which he is sitting settles down to a steady speed, both he and the cabin are
going at the same speed, and so the seat no longer presses on him and he feels weightless.

Then he might have troubles with meteors. We know that there are thousands of small pieces
of rock like material in orbit around sun, and there is always the risk of collision. Very tiny
meteors would not do much harm, but one of the rare large ones could be very destructive
even if it only made the cabin leak. As there is no air in space, the cabin is kept full of air
under pressure, and it would leak out through a small hole.

Finally, it is not easy to re-enter the earth atmosphere. When coming back, his cabin is
continually colliding with molecules of gas in the atmosphere. Special precautions have to be
taken to prevent the cabin from being burnt up. His landing has to be made fairly gentle. This
can be helped by using a parachute.

a) How does the space traveler feel during the first minutes, when he is speeded up?
b)  Why a man has to be carefully trained before he goes for space flight?

C) When does he feel weightless?

d)  How can a big meteor be destructive for the spaceship?

e)  Why is it not easy to re-enter the earth atmosphere?

f) How can the landing be made fairly gentle?

g)  Write the meaning of the word tremendous.
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h)  Write the opposite word for ‘upward’.

A.2 Read the following passage.
Earnest Miller Hemingway was born in 1899. His father was a doctor and he was the second
of six children. Their home was at Oak Park, a Chicago suburb.

In 1917 Hemingway joined the Kanas City Star as a cub reporter. The following year he
volunteered to work as an ambulance driver on the Italian war front where he was badly
wounded but twice decorated for his service. He returned to America in 1919 and married in
1921. In 1922 he reported on the Greco-Turkish war, then two years later resigned from
journalism to devote himself to fiction writing. He settled in Paris where he renewed his
earlier friendship with such fellow American expatriates such as Ezra Pound and Gertrude
Stein. Their encouragement and criticism played a valuable part in the formation of his style.
Hemingway’s first two published works were Three Stories and Ten Poems and In Our
Time, but it was the satirical novel The Torrents of Spring which established his name more
widely. His international fame was firmly secured by his next three books; Fiesta, Men
Without Women and A Farewell To Arms.

He was passionately involved with bullfighting, big game hunting and deep-sea fishing, and
his writing reflected this. He visited Spain during the Civil war and described his experience
in the best seller For Whom The Bell Tolls.

His direct and deceptively simple style of writing produced generations of imitators but no
equals. Recognition of his position in contemporary literature came in 1954 when he was
awarded the Noble prize for Literature, following the publication of The Old Man and the
Sea.

Earnest Hemingway died in 1961.

A.2.1 On the basis of your reading of the passage, answer the following questions
briefly. (4X2=8 marks)

a)  Their encouragement and criticism were to play a valuable part in the formation of his
style. Who are being referred to here?

b)  What does the passage say about Hemingway’s style of writing?

C) Write two activities in which Hemingway was passionately involved. Which were
reflected in his writing.

d) Name two books that brought him international fame.

A.2.2 Complete the following statements on the basis of your reading of the passage.

(4X1=4 marks)

a) Earnest Miller Hemingway was born in :

b) Hemingway worked as an on the Italian front.

C) He got noble prize in the year 1954 following the publication of

d) He reported on war, before taking up fiction writing.
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SECTION -B (Writing)
You lost your wrist watch in the school auditorium. Write a notice for your school
notice board giving a detailed description of the watch. You are Jamuna/ Jakir of Teg
Bahadur Public School, Ludhiana. (40-50 words) (4 marks)
You are Samina / Susrut living at 303, Gopal Enclave, Delhi. Write a letter to your
uncle informing that you have won the first prize in all India art competition. Its theme

was conservation of resources. (6 marks)
Write a story with the help of following outline. (120-150 words) (10 marks)
An old farmer .................... Three idle sons............ father anxious ................
Tell them of a treasure in the fields ............. dies ............... sons dig up the soil

............... excellent crop.

SECTION C: (Grammar)
Match the words and phrases with their meanings in the box below. (2 marks)
Homesick
Shriek
Plump
Muttering
speaking unclearly high-pitched cry
pleasantly fat wanting to be home
Make meaningful sentences using the phrases. (2 marks)
Carry on
Spread across
Fill in the gaps as shown in the example. (3 marks)
Ex: sad sadder saddest
Much
Bad
Early
Complete the phrases choosing appropriate word from the bracket. (2 marks)
(School, brood, pack, herd)

a of chicks.

a of wolves.

Fill in the blanks with correct form of the verb. (2 marks)
I to my cousins house last year (go, went)

We in Delhi since 1984. (have been living, will be living)

Re-arrange the following words to make meaningful sentences. (4 marks)
roses/this/has/park/beautiful/pink/sunflowers/yellow/and
ways/this/can/problem/in/be/two/solved
survive/cannot/water/without/animals/long/for
looked after/properly/needs/to/the/be/patient

SECTION D (Literature)
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a)
b)
B)

a)
b)
C)

D.3

Answer any four out of the following five questions. (30-40 words) (8 marks)
In which subjects did the little man need help, to do patrickj homework and how?
What is the difference between a home and a house?
Why did the Emperor reward Taro?
What was the purpose of the special days in Miss Beans School?
What abilities must an astronaut have according to the journalist?
Read the extracts and answer the questions. (2 marks)
With a dive and dip
It snaps its tail
Then soars like a ship
With only a sail
What things dives and dips and where?
What helps it to soar high?
Beauty is heard (2 marks)
In the night,
Wind sighing, rain falling,
Or a singer chanting
Anything in earnest.
Can beauty be heard? Where do we hear it at night?
When a singer’s chanting does seems beautiful?
They walked and they walked, and all of a sudden the Wolf lifted his nose, sniffed,
darted quickly off the path and into the bushes and crept deeper into the forest. The
dog was much surprised. (4 marks)
a) Name the two animals for whom they is used here.
b) Why did the wolf lift his nose and creep deeper into the forest.
¢) Why was the dog surprised?
d) Write the meaning of Dart.
Answer only one question. (120-150 words) (5 marks)
Describe a quarrel that you had with your brother or sister or friend. How did it start
and who ended it?
Or
How would you look after a pet-- a cat or dog, if you had one? Is it right to keep birds
in a cage”?
Answer any two questions from the following three. (30-40 words) (4 marks)
Why did Akbar ask Tansen to join his court?
Ray was not a pawn broker. Why then did he lend money to people in exchange for
their old watches and clocks?
Why did the Shepherd always carry the iron chest? Is it an example of humility or
wisdom or both?




Atomic Energy Central Schools, Rawatbhata
Term-I Examination (2019-20)
Class: VI Maximum Marks: 80
Sub: Mathematics Time: 3 hours

General Instructions: this question paper consists of FOUR sections: A, B, C and D
1.Section A contains of 6 questions of 1 mark each
2. Section B contains of 6 questions of 2 marks each.
3. Section C contains of 10 questions of 3 marks each.
4.Section D contains 8 questions of 4 marks each.
SECTION-A (6x1=6)
1 The smallest 8-digit number is called
(a) eight crore (b) one crore (c) ten crore (d) hundred crore

2 The predecessor of 1 Lakh is

(a) 99000 (b) 999999 (c) 99999 (d) 100001
3 The greatest prime number between 1 and 10 is
(a) 2 (b) 3 () 5 (d) 7

4 The name fori of arevolution is

(a) right angle (b) acute angle (c) straight angle (d) complete angle
5 The value of - 5-(-25) is

(@ -30 (b) -20 (c) 20 (d) 35

6 An equivalent fraction of % with denominator 63 is

(a5 (b) = ©% Ok
SECTION-B  (6x2=12)
7 Write the expressions using brackets
(a) Four multiplied by the sum of nine and two
(b) Divide the difference of eighteen and six by four
8 Find 5437x1001 using distributive property
9 Test the divisibility of 5335 by 11
10 Ram and Shyam starts from point A. Ram moves towards EAST and Shyam moves towards SOUTH.
Draw their paths and name the kind of angle which will be formed between them.
11 Find the value of -12 + (-98)-(-84)-7
12 Write the natural numbers from 2 to 12. What fraction of them are prime numbers?
SECTION- C (10x3=30)
13 Find the difference between the greatest and the least number that can be written using the digits 6, 2, 7,

4, 3 each only once.




14 1f the product of two whole numbers is ZERO, can we say that one or both of them will be Zero? Justify
your answer with example.

15Find the least number which when divided by 12, 15, 18 and 36 leaves 10 as remainder.

16 Draw any circle and mark

(a) aradius (b) a diameter (c) a segment (d) a point in its interior (e) a point in its exterior (f) its Centre
17 Draw a rough sketch of a regular octagon. Draw a rectangle by joining exactly four of the vertices of the
octagon.

18 Classify the angles whose measures are given below

(@) 30°  (b)90°  (c)180°  (d)360°  (e)210° (f) 120°

19 Write  (a) the opposite of 326BC (b) the greatest negative integer (c) a number 5 less than 0

20 Using the number line write the integer which is (a) 3 more than 5 (b) 3 less than -2

21 (a) Add 1 +3 (b) subtract > from =
22 (a) Reduce g in the simplest form (b) Write 2 as a fraction with numerator 60

(c) Which fraction is Iargeri or %?

SECTION-D (8x4=32)

23 A box of medicine contains 2, 00,000 tablets each weighing 20mg.What is the total weight of all the
tablets in the box in grams and in kilograms?
24 (a) Find the sum by suitable rearrangement 1962+ 453+ 1538+ 467

(b) Simplify using property 651 X 813 — 651 X 13
25 Determine the greatest 3-digit number exactly divisible by 8, 10 and 12.

26 On the basis of given figure answer the following
A D

B C
(a) What is AE + EC?  (b) What is AC — EC? (c) What is BD — BE? (d) What is BD-DE?
27 Draw a rough figure and label each in the following cases
(a) Point P lies on line AB (B) Line XY and PQ intersect at M.
(c) Line I contains E and F (d) Line OP and OQ meet at point O.
28 Draw a rough diagram of following 3D figure (a) a triangular pyramid (b) a cone (c) a sphere (d) a
cylinder .
29 (a) Add -50, -200 and 300 (b) Write four negative integers less than -10

30. Jaidev takes 2§ minutes to walk across the school ground. Rahul takes Z minutes to do the same. Who

takes less time and by what fraction?




Atomic Energy Central Schools: Rawatbhata
Term-1 Examination (2019-20)
Marks: 80 Class: VI, SCIENCE Time: 3 HOURS

General Instructions:
. This paper consists of five sections A, B,C ,D and E
. Section A has 10 multiple questions and each question carries 1 mark.
. Section B has 10 questions and each question carries 1 mark.
. Section C has 8 questions and each question carries 2 marks.
. Section D has 8 questions and each question carries 3 marks
. Section E has 4 questions and each question carries 5 marks.
. Draw a neat labelled diagram wherever necessary.
. All the questions are compulsory.
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SECTION A(10x1=10)
Choose the correct options for the questions given below:
1. Which pair of substances among the following would float in a tumbler half filled with water?

a) stainless steel spoon,thermocole b) feather, plastic ball

c) metallic key, oil drops d) rubber band, coin

2. Honey bees obtain honey from:

a) pollen b) nectar c) leaves d) stem

3. Which of the following is not obtained from animals?

a) ghee b) milk C) sugar d) egg

4. From which part of plant cotton is obtained?

a) root b) stem c) fruit d) leaves

5. Which of the following mixtures can be separated by using the method of filtration?
a) oil in water b) salt in water c) cornflakes in milk d) sugar in milk

6. While doing an activity in the class teacher asked Paheli to hand over a transparent material. Which
among the following will Paheli pick up and give to teacher?

a) glass tumbler b) mirror ¢) aluminium foil d) notebook
7. Rolling of chapati and baking of chapati are the changes that can be:
a) reversed b) cannot be reversed

c) can be reversed and cannot be reversed respectively
d) cannot be reversed and can be reversed respectively
8. Snail moves with the help of its

a) shell b) bone c¢) muscular foot d) whole body
9. Choose the set that representsonly the biotic components of a habitat.
a) tiger,deer,grass,soil b) rocks, soil, plants, air

c) sand, turtle, crab, rocks d) grass, fish, frog, insects

10. Which one of the following is not a source of dietary fibre?

a) whole grains  b) potatoes  c) fresh fruits  d) ghee
SECTION B (10x1=10)

Fill in the blanks:

11. The part of a plant which can be eaten is called .

12. The vitamin which gets easily destroyed by heat during cooking is

13. Polyester and acrylic are the examples of fibres.

14. Weaving of fabrics is done on

15. Materials which can be compressed or scratched eaS|Iy are called

16. The materials through which objects can be seen but not clearly are called
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17. Grinding of grains to flour is an example of change that can be
18. Changing of water to water vapour is known as
19. Cockroaches have pairs of wings and pairs of legs.
20.The surroundings where an organism lives is known as
SECTION C (8x2=16)

Answer the following in one or two sentences
21. Name two plants that have more than one edible part.
22. What are omnivores? Give one example.
23. What is ginning of cotton? How was it done traditionally?
24. What is spinning? Name one device used for spinning.
25. Name two gases that dissolve in water.
26. What type of change takes place when we burn incense stick? Explain.
27. Draw and label two types of leaf venation.
28. What is a terrestrial habitat? Give one example.

SECTION D (8x3=24)

Answer the following in 3 to 4 sentences
29. Name the following:
i) Two plants whose roots are eaten.
i) two plants whose seeds are eaten.
iii) two plants whose leaves are eaten.
30. Name the disease caused due to deficiency of Vitamin C and write its two symptoms.
31. Describe the process of obtaining jute from jute plant.
32. a) What criteria do we use to choose a material to make an object?

b) Why do some metals lose their shine and appear dull after some time?
33. Out of given pairs identify the substance that is insoluble (does not disappear on mixing) in water:

a) wax: alcohol b) lemon juice: chalk powder C) sugar: oil

34. How is a metal rim fixed on a wooden wheel? Explain
35. a) Three students A, B and C have to dissolve maximum amount of sugar in same amount of milk to win
a game. A took hot boiling milk. B took milk at room temperature and C took ice cold milk. Who do you
think will win the game and why?
b) Name the method of separation of sugar crystals from wheat flour.
36. Write three functions of roots.

SECTION E (4x5=20)
Answer the following in 4 to 5 sentences
37. a) Ateacher took students of class six to a picnic and asked students to bring food for the picnic. Rahul

brought only fast food which was fried and oily as he is used to eating that type of food and feels that fat
rich food gives more energy. His friend Neeraj shared his food with Rahul and explained him that too much
of oily and fast food is not good for health. Teacher came to know this and explained the ill effects of oily
and fast food when it is consumed too often and need for a balanced diet.
i) What is a balanced diet?
i) Name the condition (or disease) caused due to excessive eating of fried and oily food.
iii) Write two values shown by Neeraj.

b) Write the names of two food items rich in carbohydrates.
38. How will you obtain clear water from a sample of muddy water?Draw diagrams to show any two
methods used in the process.
39. Name four different parts of a flower. Draw male and female parts of a flower.
40. a) What is rib cage? Name two organs which are protected by rib cage.

b) What is a ball and a socket joint? Name two places in human body where it is found.




Atomic Energy Central School No.4 Rawatbhata
Term-1 Examination 2019-20
Sub: Social Science
Time-3hours Class: VI Max Marks -
80

General Instructions
This Question Paper consists of four sections ABC&D
1) All Questions are Compulsory.
2) Write neat and clean .

3) Attach map inside the answer script .

Section A
Choose the correct option :-
(1X7=7)
1. Tools in Hunsgi were mostly made of-
(@ Iron (b) Bones (c) Limestone (d) silver

2. Which of these metals was not used in the Harppan Civilization ?

(@) Gold (b) Copper (c) Silver (d) Iron
3. The Slaves were Known as -
(a) Dasas (b) Rajas (c) Brahmins (d) purohitas

4. Cycle of the seasons is caused due to.
(a) Rotation (b) revolution (c) gravitation (d) None of these

5. The blue color is used for showing —

(a) Mountains  (b) water bodies (c) plains (d) None of these
6. Thereare......... levels of government.
(a) Two (b) three (c) four (d) None of these
7. Who is responsible for resolving conflict in India
(a) Government  (b) people (c) news paper (d) None of these
Section- B

8. Why is the site of Daojali Hading important ?
[11X3=33)
9. How do archaeologists know that cloth was used in the Harappan civilization .
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10.

11.
12.
13.
14.
15.
16.
17.
18.

19.
20.
21.
22.

23.

24.
25.

26.

1.

2
3
4.
5

In what ways do you think that the life of a raja was different from that of a Dasa or Dasi ?

Define the the word manuscripts.
What are the three heat zones of the Earth? Explain.
Define rotation and revolution.
How are maps more helpful than a globe?
Write any two essential features of a democratic government.
How would maya‘s life be different in south Africa today?
What do you understand by the term “’prejudice’’ give one example.
What is diversity ? explain .
Section C
In what ways are the books we read today different from the Rigveda ? [7X5=35]
Why did the rajas of mahajanpadas build forts ?
Write down the three components of maps. Explain it briefly.
Draw the diagram of “’the solar system.”” Write all the planets according to their Distance
from from the sun.
What do you mean by the term ‘the ‘scale of the map ? explain .
What was the suffrage movement ? what did it accomplish ?

What is the difference between a Gram Sabha and a Gram panchayat ?

Section D
On the outline map of India mark the following . (1X5=5)
Bay of Bengal.

. Lakshadweep

. Kaveri River

Ujjain

. Magadha.
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Marking Scheme
Term 1 exam,2019 -20
Class VI Sub—English
SECTION-A (Reading)

Al 8 Marks
a)he feels glued to his seat, which is pushing him upward. He feels many times heavier than
normal.
b) because there are many difficulties and dangers.
¢) Once the cabin in which he is sitting settles down to a steady speed, both he and the cabin
are going at the same speed, and so the seat no longer presses on him and he feels weightless.
d) it can make the cabin leak.
e) When coming back, the cabin continually collides with molecules of gas in the
atmosphere. Special precautions have to be taken to prevent the cabin from being burnt up.
f) by using a parachute.
g) any relevant answer
h) downward
A2l 8 Marks
a) Ezra Pound and Gertrude Stein
b) direct and deceptively simple style of writing
¢) He was passionately involved with bullfighting, big game hunting and deep-sea fishing
d) Fiesta, Men Without Women and A Farewell To Arms (any two)
A2.2 4 Marks
a) 1899
b) an ambulance driver
¢) The Old Man and the Sea.
d) the Greco-Turkish war
SECTION -B (Writing)

B.1.Notice writing: Content-2, Accuracy-1, Fluency -1 4 Marks
B.2Letter Writing: Content -3, Accuracy-1%, Fluency -1% 6 Marks
B.3 Story Writing: Relevance of content+ Creativity-6 10 Marks

Fluency- 2,Accuracy-2
SECTION C: (Grammar)
C.1 2 Marks
a) wanting to be home
b) high pitched cry
¢) pleasantly fat
d) speaking unclearly
C.2 Any meaningful and grammatically correct sentence 2 Marks
C.3 3 Marks
a) more, most
b) worse, worst
c) earlier,earliest
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C.4 a)brood b) pack 2 Marks

C.5 a)went b) have been living 2 Marks

C.6 4 Marks

a) This park has beautiful pink roses and yellow sunflowers.

b) This problem can be solved in two ways.

¢) Animals cannot survive for long without water.

d) The patient needs to be looked after properly.

SECTION D (Literature)

D.1 (Any four) 8 Marks
a)Maths, English and History
Guiding the Elfin addition, subtraction, division and fraction, referring to dictionary and
history books
b) A house is a lifeless structure of brick, stone, wood and glass
A home consists of family members who care for each other and they share unselfish
love.
c) Taro was good and kind towards his parents. The emperor wanted to encourage all
children to respect, obey and serve their parents.
d) The purpose of special days was to teach thoughtfulness, kindness to others and being
responsible citizens.
e) An astronaut needs to know a lot about everything from biology to astrophysics to
aeronautical engineering. He must have encyclopaedic knowledge.

D.2 Aa) The Kite, in the skyb)Wind 2 Marks

B 2 Marks

a)  Yes, beauty can be heard. In the sighing of wind, falling of rain and chanting of
a singer

b)  when he/ she sings in earnest

C 4 Marks

a) the wolf and the dog
b) because he smelt approaching of a bear
C) because the dog thought the wolf to be the strongest creature
d) move quickly, suddenly
D.3  (Any two) 4 Marks
a) Tansen learnt from Swami Hari Das. He became a famous singer.
Sometimes he sang before Emperor Akbar. Akbar was impressed by
his singing.
b) Ray did not lend money on interest. He was a kind and helpful person. He could
not say no to the needy people.
C) Because it was his oldest and time tested friend. It would protect him in case the
king took away his post. It was an example of his humility as well as wisdom.
D.4 Relevance of content + Creativity-3, Fluency-1, Accuracy-1 5 Marks




ATOMIC ENERGY CENTRAL SCHOOL, RAWATBHATA
Half yearly examination (2019-20)
Class: VI Sub: Mathematics Maximum Marks: 80
Answer KEY (2019-20)
Class VI SECTION-A
1.(b) one crore 2 (c) 99999 3(d)7 4 (a) right angle  5(c) 20
6(d) g (1mark each)
SECTION-B
7 (a) 4X(9+2) (1mark) (b) (18-6) -4 (1mark)
8 5437X (1000+1) (1mark) 5437000+5437=5442437  (1mark)

9sum of digits at odd places and at even places=8 (1mark)
Difference=0.numbeer is divisible by 11 (Im)

10 correct diagram (Im) Angle=90° (1m)
11-11+84-7 (1m) -110+77=33 (1m)

12 Total natural No.=11, total prime No=5 (1m) fraction=% (1m)

SECTION-C
13The greatest no=76432 (Im) Least no=23467 (Im) difference=52965
(1m)
14Yes (1m) 0X3=0 (1m) 0X0=0 (1m)

15 Finding LCM of 12, 15, 18 and36=540 (2m) Required no=550(1m)
16 % marks for each correct representation.
17 Drawing correct diagram of octagon (2m), Rectangle (1m)

18 (a) acute (b) right angle (c) straight (d) complete (e) reflex (f) obtuse % m each

19 (a) 326AD (b) -1 (c)-5 (1m each)

20 (a) 3 more than 5=8 (b) 3 less than -2=-5 (1.5m each)
%1234zg%§$ 543210

21 (a) 7 +%=5 (1%m) (b)§-§=24—1 (15m)

22(a)§ (b)gg (c)% (1m each)

SECTION -D
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23 Weight of 2, 00,000 tablets=40, 00,000 mg (2m)

grams=4000g (1m) wt. in kg=4kg (1m)
24(a) (1962+1538) + (453+647) (1m) 3500+1100=4600(1m)
(b) 651 (813-13) (1m) 651x800=520800 (1m)

10,12=120 (2m) largest 3-digit no=999 (1m)
=960 (1m)

26 (a) AC (b) AE (c) ED (d) BE (1m each)
27 1 mark for each correct figure

28 1 mark for each correct diagram

29 (a) (-250) + (300) (1m), getting answer50 (1m)
(b)-19, -18, -17 and-16 (1/2m each)

30 Time taken by Jaidev=% minutes, by Rahul% minutes (1m)

Making denominators equal (1m), difference=9/20 (1m)
Rahul takes less time by 9/20 minutes (1m)
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weight in

25 LCM of 8,
required no=999-39
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Half Yearly Examination-2019-20
MARKING SCHEME

Class: VI Sub: Science Marks: 80
SECTION A
1.b 2.b 3.c 4.c 5.C 6a 7.C 8.c 9.d
10.d
SECTION B
11.edible 12. Vitamin C 13. synthetic fibres 14. Looms 15. Soft
16. translucent  17. reversed 18. Evaporation 19.2and 3 20. Habitat
SECTION C
21. Any two correct examples like (coriander , fenugreek) 1+1m
22. correct definition 1m any correct example 1m
23. separation of cotton fibres from seeds im
By hand im
24. Process of making yarn from fibres 1m
Charkha or any other correct answer im
25. Oxygen and Carbondioxide 1+1m
26. A change that cannot be reversed 1m

New materials like ash and gases are formed which can not form incense stick
Again Im
27. Each correct diagram im

One correct labelling 72 m each page 56 NCERT fig 7.10

28. The plants and animals that live on land are said to live in terrestrial habitat. 1m
Forest or any other correct example 1m
SECTION D
29. i) carrot, radish Yo+ % m
ii) groundnut, almond Yo+ % m
iii) spinach, fenugreek Yo+ ¥am

or any other correct example

30. scurvy 1m
Any two correct symptoms 1+1m

31. jute plant is normally harvested when it is at flowering stage 1m
Stems of harvested plant are immersed in water for a few days 1m
The stems rot and fibres are separated by hand 1m

32. a) properties and purpose or use 1+1m
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b) because of action of air and moisture 1m

33.a) wax b)) chalk powder c) oil 1m each
34. Rim is made slightly smaller than wooden wheel 1m
On heating rim expands and fits onto the wooden wheel 1m
Cold water is poured over rim ,it contracts and fits tightly on the wheel 1m
35. a) A will win 1m

It is because larger amount of sugar can be dissolved in milk on heating
Or solubility increases on heating 1m
b) sieving 1m
36. i) they hold the plant firmly in the soil.(anchorage) 1m
ii) they help in absorbing water and minerals from the soil 1m

iii) some roots store food like carrot.1m

SECTION E
37. a) i) Correct definition im
ii) obesity 1m
iii) any two relevant values like care, scientific attitude, sharing etc Y+ % m
b) any two correct examples 1m each

38. Sedimentation- Allow muddy water to stand for some time. Heavy impurities like
soil will settle down. 1m
Decantation — Tilt the glass without disturbing water, collect water from top
into another glass. 1m
Filtration- if water is still muddyfilter it by uaing a piece of cloth or filter paper.
Solids remain on filter paper 1m
Fig 5.8 diagram of sedimentation and decantation page 39 NCERT
fig 5.10 filtration page 40 NCERT any two diagrams out of these. 1+1m
39. sepals, petals, stamen and pistil %m each

Diagram of stamen (fig 7.23 page 61) and pistil ( fig 7.24 page 62) NCERT 1m each

Any two labelling for each diagram. % m each (1/2 x4 =2)
40. a) ribs join chest bone and back bone together to form a box like structure called
Rib cage 1m
It protects heart and lungs 1+1

b) a joint in which rounded end of one bone fits into the cavity of the other
bone. It allows movement in all directions im

shoulder and hip joint Yo+¥im
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